12a1988 (K 12a1988)

Linearized knot diagam

ENEEEEENEEEEE

6 7 1 9 10 2 12 1 5 3 4 8

Solving Sequence

16 >2—>7->310>11—>5—>9—>4— 8 — 12 > C3,C7,C11
C1 Ce C2 €10 ©Cs C9 Cyq Cg Ci12

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter].


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

=

Iy

Iy =

1§

Iy =

I§
I7
I§
Iy

Iy

(urt 4+ u'® —6u? — 5u® + 11u” 4 5u® — Tu® + 5ut + 3u® — 4u? + 4b — 2u,

—3utt — 8ut® + 90 + 33u® — 44" — 30u’ + 20u° — 42u® + u? + 4a + 10u — 2,

u? 4+ 3ult — 300 — 140° + u® + 1847 — 8ub — 6u® + 24ut — 3u — 13u% + 6u — 2)

(1999u'® + 3106w + - - - 4 2878b — 22827, —1627u'® — 1680u'* + - - - + 158294 + 36947,

u'® 4+ 3ut 4 - —2u — 11)

(u'a —u" — 4ula — uta + 4u® + 4la — ut + ula — 4uP 4 2au +u? +2b+a + 1,

—u'a+uba+2u” + 3uta — 3ub — 3uta — Tu® — 2ula + 10u* + 2ula + Tud 4 a® — au — Tu® +a — 5,

u® —u” — 4u® + 3u° + 5ut —ud —u® —3u—1)

(—uMa —u + - Fa+1,

u =50 +ua — 2u® + 9u" — 2uPa 4 8ub — uta — 4u® — 10ut + wa — 6ud + a? + 2au + 2u® + a + 6u + 2,
u'? —utt — 400 200 + T 4w’ — 5’ — 5u® —ut + 3ud 4+ 20 4 1)

(2b—a—1, a* -3, u—1)

(2b —u+1, 3a —u, u* —3)

b+1, a, u—1)

(4 —4b+5, 2ba — 2b —3a +4u+7, 2bu+2b—2a+u+3, a®> —2a+1, au+a—u—1, u® +2u+ 1)
(a—1, u+1)

* 9 irreducible components of dim¢ = 0, with total 78 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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LI} =
(u'+u®+.. . 4+4b—2u, —3u't —8u'®+...+4a—2, w2+ 3ult+...+6u—2)

(i) Arc colorings

o ()

0
ag = u
1
a2: u2
—Uu
ar = \—ud +u
—u?+1
a3: _u4+2u2
%u11+2u10+,_,_gu+%
a0 = \ —qult — 200+ +u? + Ju
Lyl pq10 4o Ty L
o= (h 5 s )
—%ull—ulo—i- -+%u—%
as = \ Lyttt 11042y Iy
1,10 3,,9 15,2
ag = u
1,11 7,9 3 3
—zu +ZU + *gu‘i’?
ag= \ —yl = Tyl0 4. 5y 4 1
1,10 3,,9
—su —gu”+-+u—1
ag — U

—u?

sul' + 300+ pu 1
a2 =

(ii) Obstruction class = —1

(iii) Cusp Shapes
= %u“ +uld — %ug — %ug +3u” — 13u8 — 8u® + 22ut — 11u? — 1—29u2 +32u—7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C2,Cq u12—3u11+--~—6u—2
C7,C8,C12
€3,C4,Cs u'? 4 3utt - 6u—2
Cg, C10,C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
€4,C5,C
45 €5, C6 y12715y11++16y+4
C7,C8, Co
€10, C11, C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

uw=0.369891 + 0.8955941
a = —0.40167 + 1.492981
b= —0.02653 — 1.854531

11.33630 — 5.252121

7.30257 4- 4.651841

uw=0.369891 — 0.8955941
a = —0.40167 — 1.492981
b= —0.02653 + 1.854531

11.33630 + 5.252121

7.30257 — 4.651841

u= 1.22438
a = —1.51331 8.64658 —5.83920
b= —1.43561
u= 0.740748
a= 2.25319 10.7798 10.0010
b= 0.277533

= —1.48568 4 0.192511
—0.168040 — 0.6245921
—0.695418 4 0.5951701

—11.33630 4 5.252121

—7.30257 — 4.651841

—1.48568 — 0.192511
= —0.168040 + 0.6245921
= —0.695418 — 0.5951701

—11.33630 — 5.252121

—7.30257 4- 4.651841

= —1.46094 + 0.443421
0.831296 + 0.5558291
= 1.16548 — 2.083171

15.23521

0. —7.626821

—1.46094 — 0.443421
0.831296 — 0.5558291
1.16548 + 2.083171

—15.23521

0.+ 7.626821

0.186071 + 0.3324961
—0.523030 — 0.8523141
0.072588 + 0.3006831

—0.7610151

0.+ 9.128581

0.186071 — 0.3324961
= —0.523030 + 0.8523141
= 0.072588 — 0.3006831

> Q& €|l & €| & €| Q& &> Q@ 8| & &
I

0.7610151

0. —9.128581




Solutions to I} v —1(vol + v/—1CS) Cusp shape

= 1.66904

= 0.443816 —10.7798 —10.0010
0.958809

—1.85286

= —0.660804 —8.64658 5.83920
= —0.832979

U
a
b
U
a
b




II. I¥ = (1999u'® 4 3106u’* + - - -

(i) Arc colorings

()

a; =
o= ()
w= ()
o= (L)
u +1
az = —ut 4 202
0.102786u:'° + 0.106134u'* + -
—0.694580u® — 1.07922u* + -
0.0812433u15 + 0.190220u14 + -
=\ —1.01355u!® — 1.80195u + -
0.0504138u — 0.0794744u™ + -
as =\ 0.312370u!% 4+ 0.280751u + -
0.503254u1% + 0.504896u4 + -
ag = \ —0.594163u'® — 0.777623u* + -
0.434645u° + 0.605534u4 + -
as = \0.0309243u'% — 0.298124u + -
—0.0909091u1% — 0.272727ult + - -+ —
ag = —0.594163u® — 0.777623u* + - - -

(0.377914u15 +0.539579u4 + - - -
a2 =

1.00486u"® + 1.85198u!4 + - - -

(ii) Obstruction class = —1

36101L15

(iii) Cusp Shapes = — 355

5684, 14
Tagol T

+ 2878b — 22827, —1627u'® — 1680u'? +
-+ 15829a + 36947, u'® 4 3ul® 4.

. —2u — 11)

— 0.0633647u — 2.33413
— 5.24913u + 7.93155

-4 0.503696w + 0.181502
—3.62717u + 5.92113

-+ 1.94864u + 1.81092
-4 1.27762u — 4.97672

-+ 3.85571u — 3.97524 >

- —6.03753u + 4.15705

- 4 0.944058u — 3.69180

2.18182u + 0.181818
—6.03753u + 4.15705

-+ 2.21884u — 1.80814 )

+ 1.33679u — 5.79335
+ 2.96873u — 7.53579

43398
1439 ¢ u+

24298
1439




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cq u16_3u15+”.+2u_11
C7,C8,C12
C3,C4,C
355 (u® —u” — 4uS + 3u® + 5ut — u? — u® — 3u—1)?
€9, €10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq y16 . 13y15 4+ — 532y + 121
C7,C8,C12
LT (8 — 9yT 4 32y° — 53y° + 31y* + 15y° — 15y% — Ty + 1)?
€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u= 0.694226 + 0.6677191
a= 1.12920 — 1.086081 10.1546 6.33746 4 0.1
b= 0.276681 + 1.3115207
u= 0.694226 — 0.667719]
a = 1.12920 4 1.086081 10.1546 6.33746 4+ 0.1

b= 0.276681 — 1.3115207

u = 0.262333 4 1.0586301
a= 0.019128 — 1.3437701
b= 0.19190 + 2.135451

5.44991 — 9.883011

3.28252 + 6.069631

u = 0.262333 — 1.0586301
a= 0.019128 + 1.3437701
b= 0.19190 — 2.135451

5.44991 + 9.883011

3.28252 — 6.069631

u= 1.15427
a = —0.296909
b= —-0.236501

—2.57083

2.16010

u = 0.524313 4 0.6571461
a= 0.513557 + 0.6400431
b= —0.598451 — 0.1549971

—4.77492 — 2.263761

—6.05872 + 4.533781

0.524313 — 0.6571461
a= 0.513557 — 0.6400431
b= —0.598451 + 0.1549971

u =

—4.77492 4 2.263761

—6.05872 — 4.533781

u = —1.345930 + 0.0901341
a= 0.078599 + 0.5053391
b= 0.329421 — 1.0364901

—4.77492 4 2.263761

—6.05872 — 4.533781

u = —1.345930 — 0.0901341
a= 0.078599 — 0.5053391
b= 0.329421 + 1.0364901

—4.77492 — 2.263761

—6.05872 + 4.533781

u = 1.125920 4 0.8003031
a = —0.889080 + 0.4478381
b= —0.77247 — 1.446811

2.93531 + 3.557551

2.52739 — 2.624891
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

w=1.125920 — 0.8003031
a = —0.889080 — 0.4478381
b= —0.77247 + 1.446811

2.93531 — 3.557551

2.52739 + 2.624891

u = —0.604309
a= 0.567118
b= 1.07322

—2.57083

2.16010

w = —1.47759 + 0.374621
a = —0.854231 — 0.4414481
b= —0.72115 + 1.926121

5.44991 4 9.883011

3.28252 — 6.069631

w = —1.47759 — 0.374621
a = —0.854231 + 0.4414481
b= —0.72115 — 1.926121

5.44991 — 9.883011

3.28252 + 6.069631

u = —1.55826 + 0.27885]
a= 0.822270 + 0.2801771
b= 0.375716 — 1.3266801

2.93531 + 3.557551

2.52739 — 2.624891

u = —1.55826 — 0.27885]
a= 0.822270 — 0.2801771
b= 0.375716 + 1.3266801

2.93531 — 3.557551

2.52739 + 2.624891
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L. 1 = (w'a—u"+---+a+1, —v'a+2u"+:.--+a—5, ud —u” —4ub +
3u® + 5ut — ud —u? —3u—1)

(i) Arc colorings

o ()

0
ag = u
1
a2: u2
—u
ar = \—ud +u
—u?+1
a3 = \ —y* 4 202
a
aio = f%u7a+%u7+~'f%af%
ul — 4 —wda+4uP tau+a+u
11 = —%u7a+%u7+---—%a—%
—uba—u"+- —a+2
as= \—2ua+iu"+ - —1a—1
wl —u® —3ut+ 20+ 202+ 1
ag = u
—ua—u 4+ —a+2
4 = —%u7a+%u7+~-~—%a—%
w—u? —3ut+ 2P+ 20 +u+1
ag = u

2

—u w3 — 2t -2t — w2 —u+1
a2 = —u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —2u® — 2u® + 10u* + 8u® — 12u% — 10u — 4

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cq 8 7 6 5 4 3 2 2
(u® +u" —4u’ — 3w’ +5u” +u’ —u” +3u—1)
C7,C8,C12
C3,C4,C5 WO 3 9y — 11
€9, €10, C11

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €2 C6 (y® — 9y" + 32y° — 53y° + 31y* + 15¢y° — 15y° — Ty + 1)?
C7,C8,C12
€3, €4, 5 y'o —13y" + .- — 532y + 121
€9, €10, C11

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.151337 + 0.6730641
a= 0.762637 — 0.9504711
b= 0.076801 + 0.4084431

4.77492 + 2.263761

6.05872 — 4.533781

u = —0.151337 4 0.6730641
0.30052 + 1.932131
b= —0.06507 — 1.928741

4.77492 + 2.263761

6.05872 — 4.533781

u = —0.151337 — 0.6730641
a= 0.762637 4 0.9504711
b= 10.076801 — 0.4084431

4.77492 — 2.263761

6.05872 + 4.533781

u = —0.151337 — 0.6730641
= 0.30052 — 1.93213I
—0.06507 4 1.928741

4.77492 — 2.263761

6.05872 + 4.533781

= —1.359440 + 0.2073041
= —0.897134 + 0.4518951
= —0.592239 — 0.1254361

—2.93531 + 3.557551

—2.52739 — 2.624891

= —1.359440 + 0.2073041
= 1.089640 + 0.3712791
= 1.80045 — 1.270641

—2.93531 + 3.557551

—2.52739 — 2.624891

= —1.359440 — 0.2073041
= —0.897134 — 0.4518951

—2.93531 — 3.557551

—2.52739 + 2.624891

—1.359440 — 0.2073041
1.089640 — 0.3712791
1.80045 + 1.270641

—2.93531 — 3.557551

—2.52739 + 2.624891

1.42757 + 0.332271
= —0.923905 + 0.4774541
—1.51269 — 1.882281

—5.44991 — 9.883011

—3.28252 + 6.069631

1.42757 + 0.332271
= 0.010591 — 0.7440251

b
U
a
b
U
a
b
U
a
b= —0.592239 + 0.1254361
U
a
b
U
a
b
U
a
b= 0.534351 + 0.7113391

—5.44991 — 9.883011

—3.28252 + 6.069631

16



Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

w= 142757 —0.332271
a = —0.923905 — 0.4774541
b= —1.51269 + 1.882281

—5.44991 + 9.883011

—3.28252 — 6.069631

w= 142757 —0.332271
a= 0.010591 + 0.7440251
= 0.534351 — 0.7113391

—5.44991 + 9.883011

—3.28252 — 6.069631

u= 1.50912
a= 0.460021 + 0.4424571
= 0.770987 — 0.3038571

—10.1546

—6.33750

= 1.50912
a = 0.460021 — 0.4424571
= 0.770987 4 0.3038571

—10.1546

—6.33750

= —0.342714
= 1.76330
= —0.866117

2.57083

—2.16010

—0.342714
= —3.36804
= —0.159086

2.57083

—2.16010

17



IV.
Iy =(—u'a—u't+---+a+1, v —5u’+---+a+2, u'?—utt 4. +2u?+1)

(i) Arc colorings

o ()

ag =
[

a7 =

wla—4v’a+---+u? —a
utt — w9+ 4+ 2u—1
ula—ul+.- —a—u
—ul® 4+ 3w + 207 — 208 —4u® —3ut +3u +3u+1
w — 4y — ¥ +5u"+3uf — P — 2t —ud —u—1
wla4ull 4+ 420 —1
ul%a —ult + - +5u —u

wtt — w0 — 4% 4+ 208 + Tu” 4 w8 — 5ud — Sut — ud + 3u? +2u)

—u10—|—3u8—|—u7—2u6—2u5—u?’a—2u4+au—|—2u2—|—a+u)

aq =

ag = wll —4u? — B +5u" +3uf —w® —2ut — P —u—1

utt — 4u? — 208 + 6u” 4 6u’ — 2ud — 6u* — 3ud + 2u2 + 2u
a2 = wll — 30 — 208 + 207 + 4ub + 3u® — 3w — 22 —u—2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® + 12u8 + 4u® — 8u* — 8u? — 4u? + 2

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1, €2, C6 (u? +ut — 40 — 2% + Tu® —u” — 5u® + 5u® — ut — 3ud + 2u? + 1)?
C7,C8,C12

C3,C4,C5 (u12 M = 4010 4200 + 7l 4+ w7 — 5ub — 5w’ — ut 4+ 303 + 22 + 1)2
C9, C10, C11

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
Cy4,Cs5, C
4, C5, C6 (y1279y11++4y+1)2
C7,C8,C9
€10, C11, C12

20



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.895235 + 0.5246611
a= 1.053870 + 0.4032321
b= 1.02100 — 1.564441

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —0.895235 + 0.5246611
a = —0.364606 + 0.3308431
b= 10.939757 — 0.4255571

—1.89061 — 0.924301

—3.71672 + 0.794231

u = —0.895235 — 0.5246611
a= 1.053870 — 0.4032321
b= 1.02100 + 1.564441

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.895235 — 0.5246611
a = —0.364606 — 0.3308431
b= 0.939757 4 0.4255571

—1.89061 + 0.924301

—3.71672 — 0.794231

u = —0.282166 + 0.8287981

a = —0.792263 + 0.6101801 5.693021 0. —5.510571
b= 10.383261 — 0.0564851

u = —0.282166 + 0.8287981

a = —0.20722 — 1.565701 5.693021 0. —5.510571
b= —0.47925 + 2.178251

u = —0.282166 — 0.8287981

a = —0.792263 — 0.6101801 — 5.693021 0.+ 5.510571
b= 10.383261 + 0.0564851

u = —0.282166 — 0.8287981

a = —0.20722 + 1.565701 — 5.693021 0.+ 5.510571

b= —0.47925 — 2.17825]

u = —1.155020 + 0.1919361
a= 0.827710 — 0.3166991
b= —0.087686 + 0.7866151

1.89061 + 0.924301

3.71672 — 0.794231

u = —1.155020 + 0.1919361
a = —1.095480 — 0.3031381
b= —1.53926 + 1.570731

1.89061 + 0.924301

3.71672 — 0.794231
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Solutions to If

V=1(vol + v=1C)

Cusp shape

u = —1.155020 — 0.1919361
a= 0.827710 + 0.3166991
b= —0.087686 — 0.7866151

1.89061 — 0.924301

3.71672 + 0.794231

u = —1.155020 — 0.1919361
a = —1.095480 + 0.3031381
b= —1.53926 — 1.570731

1.89061 — 0.924301

3.71672 + 0.794231

u= 1323480 + 0.1398701
a = —0.847918 + 0.2346351
b= —-0.01623 — 1.478261

—1.89061 — 0.924301

—3.71672 + 0.794231

u= 1323480 + 0.1398701
a= 0.075702 — 0.3763311
b= —0.831407 + 1.0478101

—1.89061 — 0.924301

—3.71672 + 0.794231

u= 1323480 — 0.1398701
a = —0.847918 — 0.2346351
b= —0.01623 + 1.478261

—1.89061 + 0.924301

—3.71672 — 0.794231

u= 1323480 — 0.1398701
a= 0.075702 + 0.3763311
b= —0.831407 — 1.0478101

—1.89061 + 0.924301

—3.71672 — 0.794231

u= 1.356120 4+ 0.2700461

a= 0.923718 — 0.3830731 — 5.693021 0.+ 5.510571
b= 0.95599 + 1.995741

u= 1.356120 4+ 0.2700461

a = —0.083074 + 0.6276981 — 5.693021 0.+ 5.510571
b= —0.127208 — 1.1305101

u= 1356120 — 0.2700461

a= 0.923718 + 0.3830731 5.693021 0. —5.510571
b= 0.95599 — 1.995741

u= 1356120 — 0.2700461

a = —0.083074 — 0.6276981 5.693021 0. —5.510571

b= —0.127208 + 1.1305101
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

= 0.152828 4 0.4874771
= —1.50418 + 1.364891
—0.820813 — 0.9421461

1.89061 — 0.924301

3.71672 + 0.794231

0.152828 + 0.4874771
= 0.51374 — 2.553891
1.10185 + 1.671601

1.89061 — 0.924301

3.71672 + 0.794231

0.152828 — 0.4874771
= —1.50418 — 1.364891
—0.820813 + 0.9421461

1.89061 + 0.924301

3.71672 — 0.794231

0.152828 — 0.4874771
0.51374 + 2.553891
1.10185 — 1.671601

U
a
b
U
a
b
U
a
b
U
a
b

1.89061 + 0.924301

3.71672 — 0.794231
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V.I! =(2b—a—1,a*—-3, u—1)

(i) Arc colorings

o= (o)

ag —
a9 =

a7 =

(ii) Obstruction class =1

(iii) Cusp Shapes =0

24



(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
C1,C2,C7 (u_ 1)2
(&)
C3,C4,C5 w2 —3
Cg, C10,C11
1)2
C6, C12 (u+1)

25



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq (y_ 1)2

C7,C8,C12
C3,C4,C5 (y—3)2

€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +1/=1CS) | Cusp shape
u = 1.00000
a= 173205 9.86960 0
b= 1.36603
u = 1.00000
a = —1.73205 9.86960 0
b = —0.366025
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VL I¥ = (2b—u+1, 3a —u, u? — 3)

(i) Arc colorings
1
ay = O
ag —
a9 =

a7 =

asz =
tu
L, 1
2 2
%u—2)
a1 =\1, _7
B U — 3
—%u
a5 = _|_%

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C2,Cq U2 -3
C7,C8,C12
2
C3, C9 (u — 1)
C4,Cs, C10 (u+1)2
C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq (y_3)2

C7,C8,C12
C3,C4,C5 (y— 1)2

€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +1/=1CS) | Cusp shape
u = 1.73205
a= 0.577350 —9.86960 0
b= 0.366025
u = —1.73205
a = —0.577350 —9.86960 0
b= —1.36603
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VIL. I =(b+1, a, u—1)

(i) Arc colorings

w- (o)

ag —
a9 =

a7 =

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 u—1
Cs
€3,C4,C5 "
€9, €10, C11
Cg,C12 u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq Y — 1
C7,C8,C12
€3,C4,C5 y
€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a= 0 —3.28987 —12.0000
b = —1.00000
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VIIL I¥ = (4b> —4b+5, 2ba+4u+---—3a+ 7, 2bu+u+---—2a +
3,a? —-2a+1,au+a—u—1, u? +2u+1)

(i) Arc colorings
1
ayp = O
ag =
[

ay =

ag =
aq =

—2a+ 3u—+6
ag =

u+2
20 —4u —6
a2 =\ —2u—3
(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
C1,C2,C3 (u+1)4
C7,C8,C9
C4,C5,Ce (U— 1)4

€10, C11, C12
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v—=1(vol + y/=1CS) | Cusp shape
u = —1.00000
a = 1.00000 0 0
b= 0.500000 + 1.0000001
u = —1.00000
a = 1.00000 0 0
b= 0.500000 + 1.0000001
u = —1.00000
a = 1.00000 0 0
b= 0.500000 — 1.0000001
u = —1.00000
a = 1.00000 0 0

b= 0.500000 — 1.000000
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IX. I =(a—1, u+1)

(i) Arc colorings

)

ayp =

N\
o

ag —

|
— (a]
SN—

a9 =

N— " ~~—0_

a7 =

=)
w

S O O
N———

S|
fin
o

Il

| = SN—
—
N———

aq =

i e =~

N———

o

a2 =

|
=

)
S
p |
Il
/—\/—\/—\/\/\é—\/—\/—\/\/—\/—\
| =
—
N———

)

(ii) Obstruction class =1
(iii) Cusp Shapes =0

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I¢ | v/=1(vol + /=1CS) | Cusp shape
u T e e e
a=--- 0 0
h=-..
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(i) Arc colorings

w- ()
o= (o)
= (3)
w= (o)
o= (1)
o= (})
o= (1)
w=(4)
e ()
= (o)

(ii) Obstruction class =1

(iii) Cusp Shapes = 12

X.I’={(a, b—1,v+1
1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,Cq "
C7,C8,C12
c3, Cg u—1
C4,C5,C10 w1
C11
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cq Yy
C7,C8,C12
€3,C4,C5 y—1
€9, €10, C11
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 3.28987 12.0000
b= 1.00000
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XI. u-Polynomials

Crossings u-Polynomials at each crossing
u(u —1)3(u+ 1)*(u?® - 3)
€1, €2, €7 S+ — 4u6—3u5+5u4—|—u3—u2+3u—l)2
s (u'? - 3u11 +--—6u—2)
(u'? 4 — 4t — 20° + 7u® — " — 5ub 4 5u® — ut — 3ud + 2u% 4 1)?
(u'® — 3u15 o 2u—11)
u(u —1)3(u+ 1)*(u® - 3)
€3, o (u8—u — 4ub + 3u® + 5u? —u? —3u—1)?
(u'? — — 4u® 4+ 2u° 4 Tu® + u7 —5u® — 5u’ — ut + 3u® 4 2u? +1)?
- (u'? +3u11+ S 6u —2)(u'® +3ut® 4 — 20— 11)
1 s 1o u(u—1)*(u+1)*(u® - 3) {
- c(u® =" — 4+ 3ud + 5ut —u® —u? - 3u—1)?
S(u'? =t = 400 4 20° 4 Tu® " - 5u® — 5u® — ut 4 3ud 4 2u? + 1)?
(4 3urt 4 4 6u— 2) (w4 3ut = 2u — 11)
u(u—1)*(u+1)*(u? - 3)
6, C12 S+ u” —4ub — 30+ 5ut 4wt —u? +3u—1)2

(
S(u'? = 3ut 4+ — 6u—2)
(' utt = 4t — 200+ Tu® — 0 — 5ul 4 5u® — ut - 3ud + 2% 4 1)?
S(u'® = 3ur 4 4 2u - 11)

46



XII. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C2,C3 y(y73)2(y—1)7
C4,Cs, Co ) 8 7 6 5 A 5 - ,
Cr. Cs. Co (% — 9y +32° — 53y° + 31y* + 15y° — 15y% — Ty + 1)
o =1yt 12 g, 11, .. 2
€10, C11, €12 (y 15y~ + -+ 16y +4)(y 9y  +---+4y+1)

) (y16 _ 13y15 + .- — 532y + 121)
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